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QUESTION 1

What does the SOAP specification define?

A. A format for XML messaging

B. An interface to a business process

C. An Internet communications protocol

D. The payload contents for a Web service message

Correct Answer: A

QUESTION 2

Access services represent which vital function in the IBM SOA Reference Architecture?
A. Distributed role-based access control mechanisms

B. Connectivity with existing and legacy functionality

C. Additional security at gateway points between domains

D. Services exposed across different business units or organizations

Correct Answer: B

QUESTION 3

A business has been \\'doing\\' SOA for a while and is becoming disillusioned with the results. They
are not seeing the Return on Investment (ROI) they expected even though they have created
several hundred services. What is the likely cause of this problem?

A. Services are replicated based on language and geographic needs.

B. Developers need better training on how to create reusable services.

C. Governance processes are not in place to review and approve services.

D. Scaling the environment is challenging for such large SOA implementations.

Correct Answer: C

QUESTION 4

What is the impact of a service increasing in popularity in the absence of effective governance?
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A. Shared maintenance costs

B. Increased service availability

C. Capacity requirements may not be supportable

D. Increased Return on Investment (ROI) for the service

Correct Answer: C

QUESTION 5

Which three meet the requirement for SOA identity propagation?

A. It translates between different identities.

B. It requires the use of open standards for authentication.

C. It handles services which each have their own identity registry.

D. It handles identities which are coupled with application business logic.

E. It provides a token that describes digital signature blocks within a message.
F. It understands and operates with a variety of formats for representing identity.

Correct Answer:. ACF
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